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- 54 0l&f 50,000 «2H =128 1,200
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CIESE 1,440
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- =Xt 60,2363 *49! « 1Y 2,952
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A2 2R 11,2002 10A 2H+ 128 «1H 1,355
=0HZEE 22 18,072,000& *4 .5% 814
- NEHE 222 18,072,000 *1.5% 272
SMNEE 2E2 18,072,000 *3.6% 651
- DUAHUEE 22 18,072,000& *2.945% 533
COEIRAEE 23 533,000 *6.55% 35
JIEFEBI(EI1&2) 2,000,000& 2,000
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- 63 155,000& x 162 ~ 12& 301,320
72 140,000& 215 128 361,200
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M IIEtE A S 28,000 26,000 2,000
ORIIH2D HEUEANX /22
2,000,000& *14H 28,000
303 ZAZ 2,043,821 1,941,346 102,475
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36,693,550,000 *1.9553% 717,469
SEE M2 22
36,693,550,000& *0. 124% 45,501
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02 ALY 22
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OLo #)leaxss 242
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80,000, 000& 80,000
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= 29,760
101 Q124 H| 29,760 29,142 618
= 29,760
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Os2U4a 82 29,760,000 29,760
= 29,760
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Ol SAY| (A3 =X dHZ22H) 929,378 907,452 21,926
Al HI 929,378
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OIHNSRE MEEE 10,000& x 100 1,000
202 04| 1,716,000 1,614,240 101,760
01 2LHOI I 1,716,000 1,603,200 112,800
OJlZgeasoy (2, Sx )
20,000& *650H x12& 1,716,000
203 ¥ R =&t 125,480 123,815 1,665
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2N
X ZH -
L= B

el

(BH) - NBAY - B2 il HZS2
22 RFAY| 92,100 92, 100 0
L2HHEIRFA 92,100
2y 58,300, 000& *90% 52,470
f2FE 40,700, 000& *90% 36,630
2= 3,000,000& 3,000
02 RIS R = XY 29,180 27,515 1,665
O&JAINNMERF=AH| 29,180
100 ME X 80,000& x100H 8,000
101¥ ~300 60,000& x200H 12,000
45,000& *204Y 9,180
04 EANSHLRF=AH| 4,200 4,200 0
ORNM2YHRFAY| 4,200,000 4,200
204 &R = A H| 96,000 90,600 5,400
01 S HR-HAY| 96,000 90,600 5,400
OB ZHRHZFH| 96,000
22 (REH) 650,000& x1H x12& 7,800
- 3B(BEREE) 600,000& x1H x12& 7,200
- 42(F,93]) 350,000& x4H x12& 16,800
-3 (R, s, 0 A2
150,000 x18H x12& 32,400
100,000 26 H x12& 31,200
50,0003 x1H x12& 600
405 X &FE SH 2,720 4,400 A 1,680
2,720 4,400 A 1,680
3o EH 0l WA
400,000& * 14 400
slolg ol At WAl
160, 000& =104 1,600
= im) 450,000 =14l 450
9 ul 270,000& =1 H 270
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